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Chapter 4B Board Problems

A B C D
Evaluate: Evaluate: Evaluate: Evaluate:
4 T T 6
J'(x2 +7x)dx I(Z cos X +1)dx J' sec x tan xdx J'x(2x2 +1)%dx
2 0 3rzl4 4
Calculate the average | Find F'(X): Find F'(X): The temperature (°F) in a city
value: 28 over a 24 hour time period can
(=4 -3x,0n |1 [ tsin®(t)at be modeled by the function:
0,2] [ sec’ (20 3 y =0.026x" —~1.03x2 +10.2x + 34
1
Find the average temperature of
the city over the 24 hour period.
Evaluate: Evaluate: Evaluate: Evaluate:
2x% +1 : ¢
I6x(x2 +7)dx I X'+ J.cosz xsin xdx Ix(2x2 +1)%dx

x/2x +3x

4

Evaluate:

j tan(3x) sec® (3x)dx

Evaluate:

sz(x +1)%dx

Evaluate:

_[ X+/3X + 5dx

Evaluate:
5

jx(4x +1)%dx

1

Use the Trapezoid Rule
to approximate the area
below y using n=6.

y =2x*+7x,0n[0,5]

Use Simpson’s Rule to
approximate the area
below y using n=6.

y =2x*+7x,0n[0,5]

Use the Trapezoid Error
Rule to approximate the
error in using the
trapezoid rule for n=6.

y=2x>+7x,0n [0,5]

Use Simpson’s Error
Rule to approximate the
error in using Simpson’s
rule for n=6.

y =2x*+7x,0n[0,5]




